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INTERMEDIATE EXAMINATION-2025

gerHifeue udter - 2025

W ¥ dE Wiy ( ANNUAL / CULED )
Question Booklet
Set Code

FH U9 : 70 .. Hisd 9 : 40
Total Questig nted Pages : 40
(qog : 32 (qUTiek : 70)

[ Full Marks : 70 |

Instructions for the candidates :

O¥ dYAT 1. Candidate must enter his / her

¥ gh iﬁﬁﬁ‘ﬂﬂ) Question Boghklet Serial No.
HIFT I+ (10 Digits) OMR Answer
2. 'T'ﬁﬁ'f THIY #equired to give
It §f their own words

3. qfEA 3T B 1§ the \FiEht hond -
: EE aﬂ??ih rig margin

e full marks.

4, ¥l F mq?zﬁ & %ﬂ? 4. 15 minutes of extra time have been

allotted for the candidates to read
A 9 mar the questions carefylly.
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WUg - ¥ / SECTION - A
g% WYT / Objective Type Questions

g¥T =T 1@ 70 a% & Uw WyT & 6y 9% e vy & fd 4 @

wet &1 R gRT 97 v W@t feew # OMR vie wv fafgvd &€ Rl

35 T FT I 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR-Sheet. Answer any

35 questions. 35x1=35

1. e § weem i wsfa w2 w2 o
(A) 3G _ @ fanfera

©) Pt | (D) & & S T

What is the tendency of endosperm in gymnosperms ?

(A)  Haploid (B) Diploid

(C)  Triploid (D) None of these
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Convi I'EX

n
rf}”i‘_n_pﬂlh

{J -

(€) Starfish and cuttle fish (D) Dogfish ang Whale

o1 %ﬁﬁﬁkﬁmwmﬁ?
(A Hauet e
(B) v gy 13,
(C) ﬁﬁm%miﬂz’r{a ~
D) =9 § mf

(B) Long hang
(C) A baby born with a small tgj)
(D) Ap of thege 24,
22, ety ?rﬁ?Lacnpemnﬁ B Wﬁﬁ&,@qwﬁﬁnwé?
A)  zfy B) asfiy
) yt D) iy
254/
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g ;
Which of the following does coding of fi-galactosidase in lac
operon ?
(A)  z-gene (B)  a-gene
(€)  y-gene (D)  i-gene

23. ﬁ%ﬁﬂﬁﬂ?ﬁ##ﬁ?&aﬂq[smﬁ?

(A) sy (B) T

(€ (A) 3 (B) i (D) ¥ & Hré 75

Which of the following is a sexually transmitted disease (STD) ?

(A]  Syphilis (B)  Gonorrhoea

(C)  Both (A) and (B) (D)  None of these

24, ﬁ%ﬁhmmwwmmmﬁﬁm%%?

=

(A) s-aﬁﬁrﬁq:m (B)  32-Hifvrhry oy

(C) Zmw | (D) W 41 8-Hifvrhig yor
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() W (®) o gL
(©)  area =g D) i e ®
uccession take place ?

In which of the following docs secondary =

In degradcd forests

(A)  On sand (B)
(C)  On bare rocks (D) Newly formed ponds
38. fi=fafgd § 995 e Ja 3w 2 ?

(A) T (B)  HTHferE

(C) <iteam (D) Enfeat

Which of the following is an excellent biofertilizer ?

(A) Azolla (B) Marsilea

(C) Pteridium (D) Salvinia
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Which of the folluwing is a significant trend in human evolution ?
(A} Upright posture

(B) Binocular vision

(C}  Increasing cranial capacity

(D)  All of these

40, ﬁmﬁmﬁﬁmm-wmmﬂmﬁwﬁ%ﬁ@m%?

(8) foguzy (B) wg@Evew
(C) Hper . (D) fe@vsw

Which of the following types of reproduction takes place in Amoeba

Under favourable condition ?
(A)  Fragmentation (B)  Multiple fission

(€} Budding (D) Binary fission
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A ﬁmﬁf@ﬁﬁ@%ﬂwmmﬁuﬁﬁmﬁaﬁq%@m%?

(a) T feReor (B) e fapror
© X-few (D)  gd # e
Which of the following is used to induce mutation in crop plants ?
(A)  Gamma rays (B) Alpha rays
(C) X-rays (D)  Sunrays

49, ﬁﬂ%ﬁﬂﬁﬁﬁﬁ{ﬂtmfﬁﬂﬁﬂﬁmmﬁﬁm??
(A) TEgA (B) 3=
€ 3 (D) ™

In which of the following does vegetative propagation take place

through tuber ?

(A)  Garlic (B) Aan}phcphajlus
(€)  Potato '(Dj Mango
ﬁq%ﬁaaﬁﬂﬁmﬁwaﬁrwaﬁr&?whmmﬁm% ?
(B) =9 grewIfs
(D) s
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From whiC
Bud
(B)
(A) Flower
o) Seed 5
(©)  Fruit mmﬁﬂmﬁﬁﬁﬁmﬁm

A) ®) FrgEArE
(C) wmsuw o G (D) W

Which of the following is used to reduce the amount of chﬂlesterf_;:

in the blood ? lt

?
(A) Statin (B) Cyclosporin ;
(C) Lipase (D) Streptokinase

57. faefafad § @ #9 @@ 91 2 ?
A) G=T (B) - C.=Q

() G=C (D) A=T
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which of

the Follﬂwing iS a correct pair ?

A) G=T B) c=¢g
€ G=cC D) As7
5. F= 4 A T gt rva 4 o
] (A)  m-RNA (B)  r-RNA
(C) cRNA (D) t+RNA

Which of the following is 5 soluble RNA ?

(&) m-RNA : (B) rRNA

(C) c-RNA (D) £-RNA
Wﬁﬁ,mw&m%%ﬁagﬂﬁﬁp

4) TS (B)  weH

© Ffgagasht 0 o) waen

By which - uf the rbunwing' bonds are the nuclgati;les of DNA
attached

) Hydrogen | ~ (B) Covalent

“Electrovalent (D)  All of these
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